Design for AMD Radeon RX 6900 XT
Bitspower* et

(1) BPPRE-VG6900XTID 14
(12 £ HR@ K030 4 KODRGBIE - ) @ = LA
Digital RGB PIN on @motherboard or @ other equipment. @ M2.5 x 10 1244 26 %
1#1% @ £ 1B @ EL 54 RODRGBIEHH - @ M2588 118
o (20 = BPTA-DRGBMFC | (® M2.5x6 1%
N - ® =3 1K
rEnEé,fherboard Bﬁgg}fﬂﬁjﬁéﬁgf% Controller(Not included) Accessorles
— S / () BPPRE-VG6900XTID 1PCS
@ Back plate 1 PCS
(3 M2.5x10 screw 26 PCS
(@ M2.5Nut 1PCS
@ M2.5 x 6 screw 1PCS
(® Washer 1PCS
(e
(1) BPPRE-VG6900XTID 14
@ #iR 1hR
(3@ M25x108z 26 %
@ M2.5xgE 1
(B M2.5x 688 1%
® 3 1K

BURLBERTEREBRBRAE - LLE  SRLRIPMFL -

Please remove the back plate from the waterblock, and then according the
installation guide to install the waterblock, back plate with your graphics card.

BWLKIRTEREBRRRAS Lk  BRERIEGL -

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

ARTREBHERMR T BRURBRENRD) - WAREBABITEN - EREBCHREGUEYRE -
& ARTYREN = mANR U BRURBRENRT - WAENSABITEMN - =R eSEFUSEYE -



Bitspower®

© ©
©
@ ©
©
©
©
©
©

BRBRNERENERERUE
(] assRens
] 1.0 mmEazks

] 25 mmEszks

ER - BKAT - AERRASHCREAERNMUEL - £RMEH - HKRNERT
ET4/EARKAIE - BRERRKEREERIN  BeRERKMENBESHISR -

© ©
©
© ©

AMD Radeon RX 6900 XT

Applying the thermal pad and thermal paste on correct positions.
EZ] Using appropriate amount of thermal paste.
[] 1.0 mm Thermal pad
[] 2.5 mm Thermal pad

Before filling in the water, please make sure all the components are installed correctly.

To prevent any leakage which may damage the PC components, please perform a
24-hour leaking test with only the pump connected to the power supply .

- BKET - EEBIANASHERREERMME L - £RFEN - BFKRHERT -

BT24/NNEEKIE - BRERKEREETEN -

WS 2 ERKT S B BB AR



Bitspower’

E% : BitspowerZZHEEEAZAMK - @3 K - MABitspowerfIREERKLRER ; MEFBTEBNKSIRERERERE - KEEE kKRB
A BALER - KEERRAZHEZENRRKERECAURNZEER - HEEZRTAREHEEERTR -
RAEKE - BAMEKRER -
Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
A consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation

leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.
Do not turn on the pump if the reservoir is empty.

: Bitspower BUGHTREERZMEK « 42K - MABitspowerfVRFEAKLRER ; MEFBTEBMNKSRSRBEREEIE - KEEE - KRE
HAER - KEERHAZHETRUBRKERECAURNZOEN - HREBTEHEERTREE -
AEKE - BIBHKRER -

et

TE  EEENRERNKER SRenTENBASRERBE BANENELERIE0.5kg/im2 (Bar), IEENBALRERBE, BHEFETE
/\ BBEEFEKREKRARBRNER FETREREN -

Notice:When using leak tester on water cooling loop, in order to avoid product damage due to excessive pressure, the input pressure should not

A exceed 0.5kg/cm2 (Bar). If the product is damaged due to excessive pressure, it will be borne by the customer. Forbidden to use the leak
teser when there is water in the loop or the pump is runing.

TR 4EANSERNKEN, B EETENSASRERRE BANENEREET0.5kg/cm2 (Ban MEENEAER=RRE, BHEPETE
/\ BEZEPEKBEKRARFENER TETSEREN -

AR MKA - BEERASUHCEREEERNUEL - EAREH - BRKRNBERT - ET240SHNIKIE - BRERKENEEHIN  BRRERKMERNEMIMNIEER -

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR BKAT - BEWATASHCZREERINUE L - EAFEN - SFKROBERT - #7240 NHKIE - BRERKEREEHEN - BRRKERKNSREMBEIRL -

FATREBHERNRAEUURERENES - NEFHRASRTEN  ERRCHERAUBYRE - Vl/%—_mi
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

KRATRENFRBIRITEURERENNS) - MBEEHBASITEN - FRAeSkAUTIE -



